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On their bread and oil because of their wine - 135 213 L 0B Y

Overview

The X713 includes the prohibition on the bread, oil and wine of 0°721 as part of the
127 ™. The X713 states that they prohibited the bread and oil of @732, so one should
not come to drink the wine of 2>31.

mooin asks:
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The R''291 asked; why is there this difference that they were more strict by wine

to forbid even deriving benefit from it, than by wine and oil, where they only
prohibited eating/drinking it, but it is X372 M —

MO0IN answers:
= 9% DAY 292 XYY 129N 190D 199939 191 100WINY DINDN NNYN )22NY 2391 NP

And the X"27 answered because the ‘wine gladdens G-d and men’, and they

were accustomed to pour it as a libation even not in the presence of the idol -
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So since it was necessary to prohibit wine, in order to prevent relationships with
the gentile’s daughters, so the 2°»51 put on their wine the same rule and strictness

as actual libation wine, which is X372 70K; they did this to 01> ano -
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Since occasionally they would pour it as a libation even not in the presence of
the ''v. All this does not apply to j32w1 Jno.

Summary
Wine was forbidden because of 77°n112 and became X172 710K since they are 0.

Thinking it over
The X773 says they were 7M1 on 31 21W»n 13 109, so obviously 11 1s a bigger
problem, that is why it is 7X1;772 MOX; what was the s'X"2°7 question?!

! This phrase is based n a 7109 in »,u ovoW, which reads, WK1 D728 TRWHRT WA DX A?T07 1937 077 MK
Becoming inebriated is prone to lead to sin. This was the initial cause of the 77°1 on 7.

2 There are two issues with wine; they lead to promiscuity with 2°n113, and oftentimes they would pour it 1"¥> even
07°192 X9w. We could not allow >"12 drinking wine with 0>121, because of oi°n13, once the o»on were obliged to make
this MoK, they extended it also to 717 MOX since it is possible that the 1 ono is actually 701 1, therefore they made
7IR1772 70K 01 ano just like o1 7.
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